Chapter 11 - Composite Space Figures - 3-dimensional figures that are combinations of
two or more simpler figures.

*VOLUME - to find volume of the composite figure, just find the volume of EACH part separately, then
ADD the volumes together!! (-J-““& L yuu will keehfo - Subtvact Vidoma /g s < hole ()

**SURFACE AREA - to find surface area of the composite figure, just find the surface area of EACH

part separately, add them together, then consider whether you need to SUBRACT out any faces that are
NOT included in the surface!!!

Make your “list” for each section of the solid FIRST!
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number.

4. What are the approximate surface area and volume of this aquarium? Round to the nearest whole
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5. What are the approximate surface area and volume of tfus lunch box" Round to the nearest whole
number.
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‘cylinder? Round to the nearest whole number.
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6. A lab technician made a 14 cm diameter hole through the middle of a cylinder that has a diameter

of 20 cm and a height of 18 cm. What are the approximate surface area and volume of the finished
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